Day : Saturday

BACHELOR OF COMMERCE (CBCS - 2018 COURSE)

T. Y. B. Com. Sem-VI :SUMMER- 2022
SUBJECT : CORPORATE LAW-VI

Time : 11:00 AM-02:00 PM

Nate - 9/7/2077 S-18192-2022 Max. Marks : €O
N. B.:
1) All questions are COMPULSORY.
2) Figures to the right indicate FULL marks.
Q.1 Explain the contents of Balance Sheet of company. (12)
OR
a) State the qualification of company auditor. (06)
b) What are the duties of company auditor? (06)
Q.2 What is ‘Amalgamation’? Describe various methods of amalgamation. (12)
OR
a) Explain the disqualification of company auditor. (06)
b) State the objectives and types of reconstruction. (06)
Q.3 Explain the procedure of creditors’ voluntary winding up of a company. (12)
OR
a) What is ‘Compromise’? State the needs of compromises. (06)
b) Explain the meaning and contents of annual returns. (06)
Q.4 Attempt ANY THREE of the following: (12)
a) Explain the duties of an official liquidator.
b) State the consequences of voluntary winding up of company.
¢) Explain the provisions of the Company Act regarding appointment of first
auditor of company.
d) Distinguish between winding up and dissolution of company.
Q.5 Write short notes on ANY THREE of the following: (12)
a) Removal of an Auditor
b) Remuneration of an Auditor
¢) Who may make Petition for Winding up of Company?
d) Voluntary Winding up under the Supervision of Court
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